Factoring Steps:

1.  Divide out GCF:    2x² + 14x 



            = 2x (x + 7)

2.  Look for Patterns:   


(a.)  Difference of Squares:  4x² - 100





          = (2x+ 10)(2x – 10)

  
(b.)  Perfect Square Trinomial:

(1.) (a + b)² = a² + 2ab + b²

(2.) (a – b)² = a² - 2ab + b²



3.  X – Method:  2x² + 5x + 3                    6  
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                        = (2x + 3) (2x + 2) **Now we need to divide out the 2 that we multiplied in the 
2           rainbow.  Pick the binomial that’s evenly divisible by 2.



= (2x + 3)(x + 1)    **Foil or box method to CHECK.




= (2x + 3) (x + 1)    First:    2x²

                                                        Outer:  + 2x

                                                        Inner:   + 3x





        Last:     + 3
                        =   2x² + 2x + 3x + 3   **CLT (Combine Like Terms)

                        =   2x² + 5x + 3 
Rainbow





Multiply





Add








